





UNIVERSAL PARTS

Brake Caliper

Screws
Auger Nr. A B C Repair Kit
55295 M18x1.5 90 SW 14 54171
55296 M18x1.5 150 SW 14 54171
54175-54532-54546
55297 M18x1.5 95 SW 14 54549-54557
55298 M18x1.5 120 SW 14 54175-54546-54549
53866-53872-53873
55299 M16x1.5 80 SW 14 54558-54559-54562
54569
53867-54170-54529
55300 M20x1.5 90 SW 17 54550
53867-53874-54170
55301 M20x1.5 150 SW 17 54529-54548-54550
54552
55305 M20x1.5 100 SW 17 53874-54548-54552
53875-53876-53884
53886-53887-53888
55306 M16x1.5 86.5 SW 14 53889-53890-54069
54070-54071-54522
54526-54684-54686
53877-53887-53888
55307 M16x1.5 80 SW 14 53889-54069-54070
54071-54684
53877-53882
55308 M16x1.5 150 SW 14 53890-54685
55309 M16x1.5 125 SW 14 53882-53885
53885-53886
55310 M16x1.5 140 SW 14 54686-53884
55311 M16x1.5 75 SW 14 54524
55312 M16x1.5 70 SW 14 54526
55313 M12x1.5 90 SW 10 54528
55314 Méx1 20 SW 5 54528
55315 M20x2 85 SW 17 54551-54554-54530
54530-54551-54553
55316 M20x2 125 SW 17 S 4554.54556

Aufgefihrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS

Brake Caliper

Screws
< iype-1> {Type-2, ype-

Auger Nr. A B C Type Repair Kit

55317 M18x1.5 135 SW 14 1 54532
53866-53872

55318 M16x1.5 55 SW 14 1 53873
54538-54541

55319 M12x1.25 85 SW 10 1 54543

55320 M12x1.25 85 SW 10 1 54540

55321 M12x1.25 95 SW 10 1 54544
55322 M16x1.5 130 SW 14 1 54558-54569
55323 M16x1.5 120 SW 14 1 54559-54562

55324 M8x1.25 22 SW 6 1 54560
54565-54566

55325 M16x1.5 70 SW 14 1 54561
54561-54565

55326 M16x1.5 90 SW 14 1 54566

55328 M16x1.5 110 SW 14 1 54568

55329 M8x1.25 40 SW 5 1 55176

55330 M8x1.25 16 SW 5 1 55176
54170-54171

55384 M16x1.5 40 SW 14 1 54173
55294 M16x1.5 40 18.15 2 54169-54172
53868-53869
55302 M14x1.5 40 16.4 2 54169-54172

55327 M10x1 40 9.3 2 54565
55303 M18x1.5 81.5 17.8 3 53869-54169
53869-54169

55304 M18x1.5 119.5 17.8 3 54172

m/\ufgemhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS
Brake Caliper

Dust Covers

{Type-1., <iYPe-2> {Type-3» \iYPe-4> <TYP6-§ Type-6- Type-7.
Type-8- <iype-9> <Type-10> <iype-11> {Type-12> <Type-13> <iype-14>
Auger Nr. A B C Type Repair Kit

53876-53877-53882-53887-53888

55331 030/035.5 051.5 36.5 1 53889-53890-54069-54070-54071
54522-54526-54684-54685-54686

55332 016 037 23 2 54528

55333 025 040.2 41 3 54524

55334 035/037.5 051.5 34 4 54558-54559-54562-54569

55335 023.5/630 042 26 5 54561-54565-54566

55336 029/046.5 051.5 37 6 53884-53885-53886

55337 035/037.5 051.5 33 7 54559

55338 023.5/635 046/047.5 28 8 54560-54568

55339 020/034 045 33 9 53883

55340 038/064.5 072.5 30.5 10 53883

55341 012.5/616 022 22 11 54567
54533-54534-54535-54536-54537

55342 017.5/619.7 233.5 31 12 54538-54539-54540-54541-54542

54543-54544-54545-55179
55343 026 042.5 27.5 13 54529
55346 042 121x170 13 14 55176

Aufgefihrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS

Brake Caliper

Dust Covers

<Type-8 <Type-9- “Type-10- Type-11- <Type-12> <Type-13> <Type-14

Auger Nr. A B C Type Repair Kit
st | owswass| o0 | ses 1 0875 S3804-53600-53600
55345 031/032 240 46 2 53877-54070-54684
55347 018 068/074.5 24.5 3 53878-54168-54178
55348 018 065/074 22.75 4 53881-54167
55349 018 069/074 22 5 54523
55350 018 068/070.5 30.5 6 54558-54562
55351 032/043 084 14 7 53870-53871-54173-54174
55352 230.5 085 9.5 8 53883
55353 047 082 17 9 54528
55354 031 072.5 11 10 54559-54561-54565-54566
55355 255 295 14 11 54560
55356 034 269.5 6.5 12 54527
55357 268 098 9.5 13 54563
55358 041.5 084 7 14 54570

mmfgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS
Brake Caliper

Dust Covers

Type-1 Type-2 Type-3, ype-4 ‘Type-s. Type-6. Type-7>
Auger Nr. A B C Type Repair Kit
55359 047.5 074 15 1 54535-54536
55360 258 085 14.5 2 54534-54537-55179
55361 219 232.5 6.5 3 54534-54536-54539-55179
55362 049/060.2 o74 13 4 54533-54539-54545
55363 232 259 7.75 5 54564
55364 230 051.5 22 6 54531-54547
55365 229 251.5 22 7 53874
55366 027 248 19.5 8 54532-54555
55367 022/232.5 265 25 9 54547
55368 024/935 056 25.5 10 54175-54546-54549
53868-53869-54169-54170-54171
ssds o o no s s s
54554-54556-55286
55370 033/035 269 155 12 54167
55371 033/035 073 155 13 54168
55372 235 o73 14.5 14 54178

Aufgefihrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS

Brake Caliper

Dust Covers

Type-1/ Type2/ Type-3. Type-4. Type-5 Type-6. Type-7,

Auger Nr. A B C Type Repair Kit
55373 235 270 14 1 53881
55374 219 064.5 21.75 2 53872-53873
55375 221 048.5 20.5 3 53872-53873
55376 025/031 240 64 4 53887-53888-53889-54069-54071
55377 033/036 245 96 5 53882-53885
55378 046 0525 ‘0 6 59877-53862-53890.54072
55379 037.5 053.5 37 7 54558-54569
55380 042/047 255 46 8 53884
55381 046.5 052.5 26 9 53885-53886
55382 28/012 219.5 13.5 10 54547
55383 221 240 18 11 54557

m/\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS
Brake Caliper

Auger Nr. OEM Nr. Description Model Picture
53875 Il 368470064 Rep. Kit for Brake Caliper — ---
55306 55344
Knorr Type |
53876 K 000696 Rep. Kit for Brake Caliper -
55331 55306
Knorr Type | ‘
53877 K 000687 Rep. Kit for Brake Caliper -
55331 55378 55345
Knorr Type | | |
55308 55307
53878 I 304130065 Rep. Kit for Brake Caliper — ---
Knorr Type 55347
53879 Il 39769F0063 Rep. Kit for Brake Caliper -
Knorr Type
53880 K 000945 Rep. Kit for Brake Caliper — ---
Knorr Type

Aufgefihrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference only




UNIVERSAL PARTS

Brake Caliper

Auger Nr.

53881

53882

53883

53884

53885

53886

OEM Nr.

K 001300

I 358510062

9316 1192

I1 197140062

I 179320062

I 197330062

Description
Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Model

Picture

55373 55348

55378 55331 55377

55308 55309

55352 55340 55339

556380 55344 55336

55306 55310

556377 55381 55336

I | |
55310 55309

55344 55381 55336

55310 55306

m,‘\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS

Brake Caliper

Auger Nr. OEM Nr.
53887 K 001274
53888 K 000375
53889 4254 1412
53890 Il 339680062
Il 328090062
Il 369100062
54068 K 000029
54069 K 000472

Description
Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Model

Picture

55376 55331 55307

55306

55331 55306
55307 55376

55306 55307 55331 55376

55344 55378 55331

55308 55306

55376 55331 55307 55306

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS

Bra

ke Caliper

Auger Nr.

54070

54071

54072

54167

54168

54178

OEM Nr.

K 001925

K 001532

K 001301

K 010603

K 010604

K 000944

Description
Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Model Picture

55345

55372

55331 55306 55307

55307 55306 55376

55331

55378

55348 55370

55347 55371

55347

m,‘\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS
Brake Caliper

Auger Nr.

54522

54523

54524

54525

54526

54684

OEM Nr.

I 39769F0062

K 001929

K 001928

K 003902

K 004100

K 001915

Description
Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Model

Picture
55344 55331
I
55306
55349
55333 55311 55292

556331 55312

55306

55331 55345

55306 55307

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS

Brake Caliper

Auger Nr.

54685

54686

53866

53867

53868

53869

OEM Nr.

K 000935

K 000132

MCK1171/N

MCK1102/N

MCK1253

MCK1254

Description

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Knorr Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Model

Picture

55378 55331 55308

55378 55344
| I

/]

556331 55310 55306

55318 55299
55300
55301
55369
55302
55369
55304 55303 55302

m,‘\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS

Brake Caliper

Auger Nr. OEM Nr.

53870 MCK1139

53871 MCK1238

53872 MCK1171

53873 MCK1192

53874 5001 837 006

54169 5001 866 989

Description
Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Model

Picture

55351

55351

55299 55318

55374 55375

55299 55318

55374 55375

55305 55301

55365

55304 55303 55369

55294 55302

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS

Brake Caliper

Auger Nr.

54170

54171

54172

54173

54174

54175

OEM Nr.

MCK1086

MCK1243

5001 866 400

5001 858 718
5001 860 792

5001 866 398

5001 822 994

Description
Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Picture

55301 55300 55384

55369

55296 55295 55384 55369

556302 55369 55294
I

55304

55369 55384

55351

55351

55297 55298

55368

m,‘\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS

Brake Caliper

Auger Nr. OEM Nr.

54529 MCK1103

54530 MCK1134

54531 SJ4077

54532 SJ4052

54533 SP8597

54534 SP9670

Description
Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Model

Picture

55301 55300

55369 55343

556315 55369
55316
55364 55369

55366 55317 55297

55362 55342

55342 55360

|
\

55361

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS
Brake Caliper

Auger Nr. OEM Nr. Description Model Picture
54535 SP8567 Rep. Kit for Brake Caliper — --- 55350 5534

Ror Type |
54536 SP9669 Rep. Kit for Brake Caliper  ---

55359
Ror Type |
55342 55361
54537 SP8564 Rep. Kit for Brake Caliper -
55342 55360
Ror Type
SJ1034 Rep. Kit for Brake Caliper -

4538 55319 55342

Ror Type
54539 SJ1030 Rep. Kit for Brake Caliper  ---

55362
55342 55361
SP8565 Rep. Kit for Brake Caliper -

54540 s

Ror Type

55320

m,‘\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS

Brake Caliper

Auger Nr.

54541

54542

54543

54544

54545

54546

OEM Nr.

SJ1022

SP8566

SJ1035

SP8902

SJ1037

SJ1213

Description
Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Model

Picture

55319

556342

55319

55342

55342

55368

55342

55342

55321

55362

55298

55297

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference only 12.17




UNIVERSAL PARTS

Brake Caliper

Auger Nr.

54547

54548

54549

54550

54551

54552

OEM Nr.

SJ4078

SJ4076

MCK1213

SJ4011

MCK1102

MCK1116

SJ4021

Description
Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Model

Picture

556364 55367 55369

55382 55285

55301 55305 55369

55298 55368

55297

55301 55369

55300

55369 55315

55316

55301 55305

m,‘\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS
Brake Caliper

Auger Nr.

54553

54554

54555

54556

54557

55176

OEM Nr.

MCK1135

MCK1299

SJ4053

MCK1118

5000 821 966

5001 831 176

Description
Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Rep. Kit for Brake Caliper

Ror Type

Model

Picture

55316

55366

55316

55383

55346

55316

55369

—— 55315

55369

55369

55297

556329

55330

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS
Brake Caliper

Auger Nr. OEM Nr. Description Model Picture
55179 SJ1033 Rep. Kit for Brake Caliper — ---
55360 55342
Ror Type |
55361
55180 SJ1018 Rep. Kit for Brake Caliper — ---
Ror Type
54527 12999199VT Rep. Kit for Brake Caliper — -—-
55356
Wabco Type |
Rep. Kit for Brake Caliper  ---
54528 12999729VT p p csasa .
Wabco Type | ‘
55314 55313
54558 12999677VT Rep. Kit for Brake Caliper — ---
55350 55334 55379
Wabco Type | | |
55299 55322
. Kit for Brak li
54559 12999738VT Rep. Kit for Brake Caliper 55000 55323 55334
Wabco Type ‘ ‘

55337 55354

m,‘\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS
Brake Caliper

Auger Nr.

54560

54561

54562

54563

54564

54565

OEM Nr.

12999552VT

12999704VT

12999746VT

12999076VT

12999197VT

12999580VT

Description

Rep. Kit for Brake Caliper

Wabco Type

Rep. Kit for Brake Caliper

Wabco Type

Rep. Kit for Brake Caliper

Wabco Type

Rep. Kit for Brake Caliper

Wabco Type

Rep. Kit for Brake Caliper

Wabco Type

Rep. Kit for Brake Caliper

Wabco Type

Model

Picture

55338

55324 55355

55326 55335 55354

| |
55325

55350 55323

]
/|

556334 55299

55357

55363

55326 55325

556327 55354 556335

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS
Brake Caliper

Auger Nr. OEM Nr. Description Model Picture
54566 12999699VT Rep. Kit for Brake Caliper  --- ssa3s
Wabco Type

55326 55325 55354

54567 12999543VT Rep. Kit for Brake Caliper — ---

55341
Wabco Type
54568 12999551VT Rep. Kit for Brake Caliper — --- s
Wabco Type |
55338
54569 12999678VT Rep. Kit for Brake Caliper ~ --- 55334 55066 55375
Wabco Type | | /
55322
54570 12999141VT Rep. Kit for Brake Caliper — --- -
Wabco Type
55286 - Rep. Kit for Brake Caliper — ---
55369

m,‘\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS

Brake
Diaphragms - Normal Stroke

Auger Nr.: 52576

O.E.M. Nr. 897 120 492.4

Type 9”
Auger Nr.: 52578

O.E.M. Nr. 897 120 505.4

Type 12”
Auger Nr.: 52580

O.E.M. Nr. 897 120 510.4

Type 16”
Auger Nr.: 52581

O.E.M. Nr. 897 120 520.4

Type 20"
Auger Nr.: 52582

O.E.M. Nr. 897 120 530.4

Type o4”
Auger Nr.: 52583

O.E.M. Nr. 897 120 540.4

Type 30”
Auger Nr.: 52584

O.E.M. Nr. 897 120 550.4

Type 36"

Diaphragms - Long Stroke

Auger Nr.: 52585

O.E.M. Nr. 897 120 516.4

Type 16”
Auger Nr.: 52586

O.E.M. Nr. 897 120 526.4

Type 20"
Auger Nr.: 52587

O.E.M. Nr. 897 120 534.4

Type 24”
Auger Nr.: 52588

O.E.M. Nr. 897 120 546.4

Type 30”

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS

Brake
Double Diaphragm Brake Chamber (for disc brake)

Auger Nr.| Type A B C D E F G H I N (Nut)
21000 16x24 236 337 86 105 M16x1,5 | M16x1,5 120.7 186 111 -
21001 16x24 236 337 86 105 M16x1,5 | M16x1,5 120.7 186 111 X
21002 20x24 252 353 93.5 113.5 M16x1,5 | M16x1,5 120.7 186 111 -
21003 20x24 252 353 93.5 113.5 M16x1,5 | M16x1,5 120.7 186 111 X

Auger Nr.| Type X Y Weight (Kg) Operation Pressure 10 Bar
21000 16x24 270 920 7.2 Temperature Range -40 C° /80 C°

Medium :Air
21001 16x24 -45 240 73 Force of Return Spring at 150430 / -20 N
21002 | 20x24 270 920 7.6 Stroke 0 mm : +30 /-
21003 20x24 -45 240 7.7 Stroke 57...64 Stroke

Auger Nr.: 21000

Knorr Part Nr:

Stroke:

Type:

BS7304

57 /157

16 x 24”

Auger Nr.: 21002

Knorr Part Nr:

Stroke:

Type:

64 / 64

20 x 247

Auger Nr.: 21001

Bpw Nr: 05.444.41.01.0
Stroke: 57 157

Type: 16 x 24”

Auger Nr.: 21003

Bpw Nr: 05.444.44.01.0
Stroke: 64 /64

Type: 20 x 247

with rep. kit

with rep. kit

mmﬁgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS

Brake
Service Brake Chamber (for disc brake)
Auger Nr.  Type A B C D,E F G H X Cap+N Weight
9 ) yp ! Washer 9
21004 16 97.5 - 86 M16x1,5 | 120.7 164 101 -45 -180 - 2,9kg
21005 16 975 | 1115 86 M16x1,5 | 120.7 164 101 -210 | -210 X 3kg
21006 20 105 - 95 M16x1,5 | 120.7 174 104.5 -45 -180 - 3,3kg
21007 20 105 121 95 M16x1,5 | 120.7 174 104.5 -210 | -210 X 3,4kg
21008 24 103 - 93.5 M16x1,5 | 120.7 186 11 -45 -180 - 3,5kg
21009 24 103 117 93.5 | Mi16x1,5 | 120.7 186 111 -210 | -210 X 3,6kg
Operation Pressure 110 Bar .
Force of Return Spring at Stroke 0 mm :150+30/-20 N
Temperature Range :-40 C° /80 C° ! pring "
Medium :Air Stroke :57...64 Stroke
Auger Nr.: 21004 Auger Nr.: 21005
Mercedes Nr: 006 420 52 24
Daf Nr : 1505 241
B. Achsen Nr: 05.444.32.01.0
05.444.32.02.0
02.0327.70.00
02.0327.71.00
ST Achsen Nr ;3454 1065 60 - -
' " 3454 1081 60 with rep. kit
Knorr Part Nr: BS3300 Krone Nr: 5812866-58128660 Wabco: 4231047100 Koégel: 334652
Stroke: 57 Stroke: 57
Type: 16” Type: 16”
Auger Nr.: 21006 Auger Nr.: 21007
Mercedes Nr: 007 420 12 24
Daf Nr : 1517 954
B. Achsen Nr: 05.444.34.01.0
05.444.34.02.0
02.0327.74.00
02.0327.75.00
S. Achsen Nr : 3 454 1067 60 5 -
3454 1082 60 with rep. kit
Knorr Part Nr: BS3404 Krone Nr: -~ Wabco: 4235050000 Kagel: 337900
Stroke: 64 Stroke: 64
Type: 20” Type: 20”

Auger Nr.: 21008

Knorr Part Nr: BS3509
Stroke: 64
Type: 24

Auger Nr.: 21009

Mercedes Nr : 007 420 14 24

Daf Nr : 1517 956

B. Achsen Nr: 05.444.36.01.0
05.444.36.02.0
02.0327.78.00
02.0327.79.00

S. Achsen Nr : 3 454 1069 60 with rep. kit

Krone NIr: - Wabco: 4235060010 Kagel: 337902
Stroke: 64
Type: 247

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS

Brake
Service Brake Chamber (for drum brake)

Auger Nr. Type A B C D E F G H.1.J K L X Y '*' Weight
21010 16 | 1125 126 93 120.7 43 185 - M16x1,5 164 100 -45 90 -~ 3.05
21011 16 1125 126 93 120.7 43 185 227  M16x1,5 164 100 135  -90 X | 3.10
21012 20 113 126 93 120.7 44 185 - M16x1,5 174 104.5 -45 90 -~ 3.10
21013 20 113 126 93 120.7 44 185 227  M1i6x1,5 174 104.5 135 -90 X | 3.50
21014 24 1125 126 925 120.7 44 185 - M16x1,5 186 111 -45 90 -~ 3.30
21015 24 1125 126 92.5 120.7 44 185 227  M16x1,5 186 111 135  -90 X | 3.70
21016 30 117.5 131 96.5 120.7 435 185 - M16x1,5 208 121 -45 90 -~ 4.05
21017 30 117.5 131 96.5 120.7 43,5 185 227 M16x1,5 208 121 135  -90 X | 4.45

Operation Pressure :10 Bar . .
Temperature Range 40 C°/ 80 C° Force of Return Spring at Stroke 0 mm :150+30/-20 N

Medium :Air
Auger Nr.: 21010
Knorr Part Nr: BZ3370
Stroke: 75

Type: 16”
Auger Nr: 21014
Knorr Part Nr: BX3535

Stroke: 75
Type: 24”

Auger Nr.: 21011

with rep. kit

Krone Nr: 945157
Wabco Nr: 4231049000
Kégel Nr: 79537

Stroke: 75
Type: 16”

Auger Nr.: 21015

with rep. kit

Krone Nr: 945153
Wabco Nr: 4231069000
Kogel

Stroke: 75
Type: 24”

Stroke

Auger Nr:21012

Knorr Part Nr: BX3417
Stroke: 75
Type: 20”

Auger Nr:21016

Nr: 175203-77348-79303

Knorr Part Nr: BX3605
Stroke: 75
Type: 30”

:57...64 Stroke
Auger Nr.:21013

with rep. kit

Krone Nr: 945154
Wabco Nr: 4231059000

Kégel Nr: 175202-79302
Stroke: 75
Type: 20”

Auger Nr.:21017

with rep. kit

Krone Nr: 945152
Wabco Nr: 4231079000

Kégel Nr: 175204-79545
Stroke: 75
Type: 30”

mmﬁgefuhr[e Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS
Brake

Double Diaphragm Brake Chamber (for drum brake)

Auger Nr. Type A B C D E F G,H,I J K L e
21018 24x30 2745 | 1045 | 1235 37 185 227 |M16x1,5 120.7 | 208 121 -
21019 24x30 274.5 104.5 | 123.5 37 185 227 M16x1,5 120.7 208 121 X
21020 30x30 271.5 1025 | 121.5 37 185 227 M16x1,5 120.7 208 121 -
21021 30x30 271.5 102.5 | 1215 37 185 227 M16x1,5 120.7 208 121 X

Auger Nr. Type X Y Weight (Kg) Operation Pressure : 10Bar
21018 24x30 135 270 9.1 Temperature Range . -40C°/80C°
21019 24x30 | 135 | 270 95 Medium . . A

Force of Return Spring at
21020 30x30 135 | 270 9.7 Stroke 0 mm . 150+30/-20N
21021 30x30 135 270 10.1 Stroke : 75 Stroke
Auger Nr.: 21018 Auger Nr.: 21019
RV.I Nr  : 5021170326 ] ]
DafNr  : 1325352 with rep. kit
B. Achsen Nr: 05.444.20.01.0

05.444.20.04.0
05.444.20.10.0
05.444.20.11.0
02.0327.39.00
Schmitz Nr : 050408

Knorr Part Nr: - Krone Part Nr:  --- Knorr Part Nr: BX 7515 Krone Part Nr: 0945470
Wabco Part Nr:  --- Kégel Part Nr: ~ --- Wabco Part Nr: 9253713000  Kégel Part Nr: 335890
Stroke: 75175 Stroke: 75175
Type: 24 x 30” Type: 24 x 30”
Auger Nr.: 21020 Auger Nr.: 21021
RV.INr  : 5021170327 with rep. kit
Daf Nr : 1325 351

B. Achsen Nr: 05.444.21.01.0
05.444.21.04.0
05.444.21.11.0

Knorr Part Nr: == Krone Part Nr: === Knorr Part Nr: === Krone Part Nr: ---
Wabco Part Nr:  --- Kdgel Part Nr:  --- Wabco Part Nr: 9253723000  Kégel Part Nr: 343320
Stroke: 75175 Stroke: 75175

Type: 30 x 30” Type: 30 x 30”

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference only 12.27




UNIVERSAL PARTS

Valves
Auger Nr. OEM Nr. Description Model Picture
52509 4325000200 Shut-off valve
4520021000
4520021070
0004291431
55385 - Double Check Valve -
M16x1.5
55386 - Double Check Valve -
3/8 - 18 NPTF
Quick Release Valves
Auger Nr. A - Supply B - Delivery C - Exhaust
52708 M22x1.5 M22x1.5 M22x1.5
54770 M22x1.5 M16x1.5 -
54771 M16x1.5 M16x1.5 -
54772 3/8 - 18 NPTF 3/8 - 18 NPTF -
54773 1/2 - 14 NPTF 3/8 - 18 NPTF -
54774 3/8 - 18 NPTF 3/8 - 18 NPTF 3/8 - 18 NPTF
54775 3/8 - 18 NPTF 1/4 - 18 NPTF 3/8 - 18 NPTF
54776 1/4 - 18 NPTF 1/4 - 18 NPTF 3/8 - 18 NPTF
54777 1/2 - 14 NPTF 1/4 - 18 NPTF 3/8 - 18 NPTF
54778 M16x1.5 M16x1.5 M16x1.5
54779 1/2 - 14 NPTF 3/8 - 18 NPTF 3/8 - 18 NPTF
54780 M22x1.5 M16x1.5 M16x1.5
54781 M22x1.5 M22x1.5 M16x1.5

m,‘\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS

Air Line Filters & Valves

Auger Nr. OEM Nr. Description Model Picture

52674 463 013 11 00 Brake Valve
000 434 23 01
(MERCEDES) M12x1.5

BO 481 007 0 29
W463 013 110 0

52675 463 013 11 40 Control Valve
000 434 24 01
(MERCEDES) M12x1.5

BO 481 007 0 10
W463 013 114 0

52676 934 300 00 10 Drain valve
000 434 08 07
(MERCEDES) M22x1.5

BO 481 019 002
W934 300 003 0

52632 432 500 02 00 Air Line Filter

M22x1.5

54782 Air Line Filter

M16x1.5

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS

Cylinders

{Type-1~

Auger Nr.

52593

52594

52595

54702

54703

54704

54705

54706

54707

OEM Number

Universal Nr : SZ 11159

Mercedes Nr :
000 072 1512 - 000 072 18 12

000 072 19 12 - 000 072 22 12

Mercedes Nr : 000 072 01 12
Universal Nr : SZ 1115

Mercedes Nr :

000 430 48 26 - 000 430 49 26
000 430 30 26 - 000 430 32 26
000 429 00 00 - 000482 024001
Universal Nr : SZ 1161 - SZ 1114
SZ 1124 - SZ 1130

Mercedes Nr : 000 430 01 26

421 411 08 60 - 421 411 30 10

Mercedes Nr :

000 430 06 26 - 048 200 60 13
421 411 02 50 - 421 411 30 60
000 430 06 26 - 000 430 10 26
Universal Nr : SZ 1208

Mercedes Nr :

421 411 08 60 - 048 200 60 09
421 411 02 00 - 421 411 02 30
000 430 02 26 - 000 430 01 26
000 430 34 26

Universal Nr : SZ 1200

Mercedes Nr : 000 072 01 12
Man Nr : 81 15701 6112

81 15701 6079 - 81 15701 6099
81 15700 9006 - 81 15701 5001
81 15701 6091 - 81 15701 6119
81 15701 6116

Mercedes Nr :000 140 04 59

000 140 03 59 - 000 140 08 59
000 140 07 59

Universal Nr : SZ 1200

Mercedes Nr :
355 070 04 75 - 447 070 01 75

{Type-4 -

Description

Air Cylinder

Air Cylinder

Brake Cylinder

Brake Cylinder

Brake Cylinder

Brake Cylinder

Air Cylinder

Air Cylinder

Air Cylinder

< Type-§>

Dimension

224 - M8

224 - M6

228 - M8

235 - M12x1.75

235 - M8

235 - M10

250 - M10

250 - M10

219 - M6

Stroke

32/50

32/50

48

85

85

85

50

48

19

Type

1

MAufgefuhrre Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS

Couplings
<Type-1 Type-2> {Type-3 {Type-4 {Type-5
-A- -A- -A-
-B- -B-
-B-
\Type-@ ~Type-7,
Auger Nr. OEM Number Description Type
Universal Nr 4522002120 Volvo Nr : 1505 065 Automatic Coupling
52515  Meroedes Nr: 000 429 36 30 (For Brake-Yellow) 1
Man Nr :81.51220.6025 R.V.L. Nr : 5000 440 155 M22x1 5
Iveco Nr : 4680 365 - 6157 8000 ’
Mercedes Nr : 000 429 40 30 - 000 429 81 30
Volvo Nr : 1584 599 - 8157 984 Automatic Coupling
52516 Universal Nr : 952 200 222 0 Daf Nr : 0632 566 (For Brake-Yellow) 1
Man Nr :81.5122.06093 Iveco Nr : 2515 210 M16x1.5
R.V.. Nr : 5000 442 714 Scania Nr : 318 159
52519 Universal Nr : 452 200 012 0 Man Nr : 81.5122.06033 Standart Coupling (For Brake-Yellow) 1
Mercedes Nr :000 429 34 30 M22x1.5
Universal Nr : 952 200 022 0 Scania Nr : 330 302
52520 Mercedes Nr : 000 429 59 30 - 000 429 79 30 Standart Coupling (For Brake-Yellow) 1
Man Nr : 81.51220.6038 - 81.51220.6040 M16x1.5
Ilveco Nr : 2516 345 -2516 835
Universal Nr : 452 200 211 O
lveco Nr : 4680 365 - 6157 7724 Automatic Coupling
52513 Mercedes Nr : 000 429 35 30 (For Emergency-Red) 2
Man Nr : 81.51220.6024 Daf Nr : 0109 915 M22x1.5
R.V.l. Nr : 5000 440 154 Volvo Nr : 1504 064
Universal Nr : 952 200 221 0 lveco Nr : 2515298
Mercedes Nr :000 429 80 30 - 000 429 39 30 Automatic Coupling
52514 Volvo Nr : 1584598 - 8157983 (For Emergency-Red) 2
Man Nr : 81.51220.6094 M16x1.5
R.V.I. Nr : 5000 442 713
52517 Universal Nr : 452 200 011 O Daf Nr : 0109912 Standart Coupling (For Emergency-Red) >
Man Nr : 88.51220.6003 lveco Nr : 2519879 M22x1.5
Universal Nr : 952 200 021 O lveco Nr : 60135772
52518 R.V.I. Nr : 5000 60 8011 Scania Nr : 330301 Standart Coupling (For Emergency-Red) >
Man Nr : 81.51220.6075 M16x1.5
Mercedes Nr : 000 429 79 30
54687  Universal Nr : 952 201 004 0 Filter Goupling 1'6'319‘15' Semitrailer 3A
54688 Universal Nr : 952 201 002 0 Filter Coupling - Re'c\iﬂgv‘\in;r; gut)- Drawbar Tralier 3B
54689  Universal Nr : 952 201 003 0 Filter C°“p"”?w'1g§'1'°;” - Semitrailer 4A
. . Filter Coupling - Yellow (with nut)
54690 Universal Nr : 952 201 001 O Drawbar Tralier M16x1.5 4B
54691  Universal Nr : 952 201 008 0 Filter Coupling - with test connector 5A
Semitrailer M16x1.5
) . Filter Coupling - with test connector and nut
54692 Universal Nr : 952 201 007 O Drawbar Tralier  M16x1.5 5B
52590 Universal Nr : 897 550 020 4 Rubber Seal Ring ©19x028.5041.5 6
54767 - Handle Grip for Air Coupling - M16 7
54768 - Handle Grip for Air Coupling - M22 7
54769 - Handle Grip for Air Coupling - 1/2” 7

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS
Air Brake Coils

Air Brake Coils (DIN 19638) Polyethilen Material

Auger Nr. Description End Fittings Working / Total Lenght Nr. of Turns / Dia
55387 Air Brake Coils - Yellow PE M16x1.5 5 mt. / 6 mt. 20/76
55388 Air Brake Coils - Red PE M16x1.5 5 mt. /6 mt. 20/76
55389 Air Brake Coils - Black/Yellow M16x1.5 5 mt. /6 mt. 20/76
55390 Air Brake Coils - Black/Red M16x1.5 5 mt. /6 mt. 20 /76
55391 Air Brake Coils - Yellow PE M16x1.5 5.50 mt. / 6.30 mt. 22 /76
55392 Air Brake Coils - Red PE M16x1.5 5.50 mt. / 6.30 mt. 22 /76
55393 Air Brake Coils - Black/Yellow M16x1.5 5.50 mt. / 6.30 mt. 22 /76
55394 Air Brake Coils - Black/Red M16x1.5 5.50 mt. / 6.30 mt. 22 /76
55395 Air Brake Coils - Yellow PE M22x1.5 5 mt. / 6 mt. 20/76
55396 Air Brake Coils - Red PE M22x1.5 5 mt. /6 mt. 20/76
55397 Air Brake Coils - Black/Yellow M22x1.5 5 mt. /6 mt. 20 /76
55398 Air Brake Coils - Black/Red M22x1.5 5 mt. /6 mt. 20/76
55399 Air Brake Coils - Yellow PE M22x1.5 5.50 mt. / 6.30 mt. 22 /76
55400 Air Brake Coils - Red PE M22x1.5 5.50 mt. / 6.30 mt. 22 /76
55401 Air Brake Coils - Black/Yellow M22x1.5 5.50 mt. / 6.30 mt. 22 /76
55402 Air Brake Coils - Black/Red M22x1.5 5.50 mt. / 6.30 mt. 22 /76
55403 Air Brake Coils - Yellow PE 1/2” BSP 5 mt. / 6 mt. 20/76
55404 Air Brake Coils - Red PE 1/2” BSP 5mt. /6 mt. 20/76
55405 Air Brake Coils - Black/Yellow 1/2” BSP 5 mt. /6 mt. 20/76
55406 Air Brake Coils - Black/Red 1/2” BSP 5mt. /6 mt. 20/76
55407 Air Brake Coils - Yellow PE 1/2” BSP 5.50 mt. / 6.30 mt. 22 /76
55408 Air Brake Coils - Red PE 1/2” BSP 5.50 mt. / 6.30 mt. 22 /76
55409 Air Brake Coils - Black/Yellow 1/2” BSP 5.50 mt. / 6.30 mt. 22 /76
55410 Air Brake Coils - Black/Red 1/2” BSP 5.50 mt. / 6.30 mt. 22 /76

Auger Nr. OEM Nr. Description Model Picture
55411 - Air Cleaner Hose, Red -

Blowgun for trucks,
1gun + 1 PE Airflex

L: 5.50 mt. / M12x1.5

55412 - Air Cleaner Hose, Yellow -
Blowgun for trucks,
1gun + 1 PE Airflex

L: 5.50 mt. / M12x1.5

MAufgefuhne Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS
Air Brake Coils

Air Brake Coils (DIN 74323-73378) Polyamid Material

Auger Nr. Description Working Lenght/Total Lenght Nr. of Turns / Dia Type
54751 Air Brake Colls 5.50 mt. / 6.60 mt. 20790 1

Yellow - M16x1.5

Air Brake Coils
54753 Yellow - M22x1 5 5.50 mt. / 6.60 mt. 20/90 1

Air Brake Coils
54755 Yellow - 1/2” BSP 5.50 mt. / 6.60 mt. 20/90 1

Air Brake Coils

54752 Red - M16x1.5 5.50 mt. / 6.60 mt. 20/90 2
Air Brake Coils

54754 Red - M22x1 5 5.50 mt. / 6.60 mt. 20/ 90 2
Air Brake Coils

54756 Red - 1/2” BSP 5.50 mt. / 6.60 mt. 20/90 2

Air Brake Coils for Trucks (DIN 74323) (212x9mm)

Auger Nr. Description Thread A/ Thread B Nr. of Turns / Dia Mark
54763 Air Brake Coils - Black/Red M16x1.5/ M16x1.5 20/90 Volvo
54764 Air Brake Coils - Black/Yellow M16x1.5/ M16x1.5 20/90 Volvo
54765 Air Brake Coils - Black/Red M22x1.5 / M22x1.5 20/90 Mercedes
54766 Air Brake Coils - Black/Yellow M22x1.5 / M22x1.5 20/90 Mercedes

. . M18x1.5-34 mm. / Man / Mercedes

54757 Air Brake Coils - Black/Red M16x1.5-34 mm. 20/90 Scania / Volvo
. . M18x1.5-34 mm. / Man / Mercedes

54758 Air Brake Coils - Black/Yellow M16x1 5-34 mm. 20/90 Scania / Volvo
54759 Air Brake Coils - Black/Red M18x1.5 / M16x1.5 20/90 Man / Mercedes

Scania / Volvo
Man / Mercedes

54760 Air Brake Coils - Black/Yellow M18x1.5 / M16x1.5 20 /90 Scania / Volvo
54761 Air Brake Coils - Black/Red M18x1.5-34 mm. / M16x1.5 20/90 Man / Mercedes

Scania / Volvo
54762  Air Brake Coils - Black/Yellow M18x1.5-34 mm. / M16x1.5 20 /90 Man / Mercedes

Scania / Volvo

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS
Sockets & Plugs

A- -B- -A- -B- -A-
A- -B- -A- -B- -A-

Auger Nr. OEM Number Description Type
52521 8 JA 003 831 001 7 Pole Aluminium Plug - 24 V. - N Type Screw or Flat - Black 1A
52591 8 JA 003 832 001 7 Pole Aluminium Plug - 24 V. - S Type Screw or Flat - White 1B
54715 - 7 Pole Plastic Plug - 24 V. - N Type Screw or Flat - Black 2A
54716 - 7 Pole Plastic Plug - 24 V. - S Type Screw or Flat - White 2B
52522 8 JA 003 883 001 7 Pole Aluminium Socket - 24 V. - N Type Screw - Black 3A
54731 - 7 Pole Aluminium Socket - 24 V. - N Type Flat - Black 3A
52592 8 JA 003 834 001 7 Pole Aluminium Socket - 24 V. - S Type Screw - White 3B
54732 - 7 Pole Aluminium Socket - 24 V. - S Type Flat - White 3B
54723 - 7 Pole Plastic Socket - 24 V. - N Type Screw - Black 4A
54729 - 7 Pole Plastic Socket - 24 V. - N Type Flat - Black 4A
54724 - 7 Pole Plastic Socket - 24 V. - S Type Screw - White 4B
54730 - 7 Pole Plastic Socket - 24 V. - S Type Flat - White 4B
54721 - 7 Pole Aluminium Plug - 12 V. - N Type Screw or Flat - Black 5A
54722 - 7 Pole Aluminium Plug - 12 V. - S Type Screw or Flat - White 5B
54733 - 7 Pole Aluminium Socket - 12 V. - N Type Screw or Flat - Black 6A
54734 - 7 Pole Aluminium Socket - 12 V. - S Type Screw or Flat - White 6B

mmfgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS

Electrical Cables

Trailer Electrical Cables - Polyethilen Material

Type-1> Type-2> “Type-3. Type-4>

Auger Nr. Description Dimension Type
52523 N Type Black Aluminium Plugs - 24 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 1
54708 N Type Black Plastic Plugs - 24 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 2
54709 S Type White Aluminium Plugs - 24 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 3
54710 S Type White Plastic Plugs - 24 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 3
54711 S Type White Plastic Plugs - 24 V - Green Cable 4.50 M. - Inner Diameter: 44 mm. 3
54712 S Type White Plastic Plugs - 24 V - Green Cable 4.50 M. - Inner Diameter: 44 mm. 3
54713 N Type Black Metal Plugs - 12 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 4
54714 S Type Black Metal Plugs - 12 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 4

Trailer Electrical Cables - Polyurethan Material

Type-1- Type-2 ‘Type-3. Type-4.

Auger Nr. Description Dimension Type
55413 N Type Black Aluminium Plugs - 24 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 1
55414 N Type Black Plastic Plugs - 24 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 2
55415 S Type White Aluminium Plugs - 24 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 3
55416 S Type White Plastic Plugs - 24 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 3
55417 S Type White Plastic Plugs - 24 V - Green Cable 4.50 M. - Inner Diameter: 44 mm. 3
55418 S Type White Plastic Plugs - 24 V - Green Cable 4.50 M. - Inner Diameter: 44 mm. 3
55419 N Type Black Metal Plugs - 12 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 4
55420 S Type Black Metal Plugs - 12 V - Black Cable 4.50 M. - Inner Diameter: 44 mm. 4

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS
ABS Cables

Trailer ABS Cable - ADR Plugs (ISO 12098

N—"

Polyurethan Material

Auger Nr. Description

15 Pole Electrical - Coil GGVS
( with 2 Plugs 15 - Poles )

15 Pole Electrical - Coil GGVS

54743

Dimension

Inner Diameter: 44 mm. (12x1.5 mm?2 / 3x2.5 mm2) -3.00 m.

54744 (with 2 Plugs 15 - Poles ) Inner Diameter: 044 mm. (12x1.5 mm?2 / 3x2.5 mm2) - 3.50 m.
54745 15(PV$:$] Elgﬂgzal;?gégfys Inner Diameter: @44 mm. (12x1.5 mm2 / 3x2.5 mm2) - 4.00 m.
54746 15(F\:\z:ﬁ Elgﬁgza:é?gég?;/s Inner Diameter: 44 mm. (12x1.5 mm?2 / 3x2.5 mm?2) - 4.50 m.
Contact Allocations for 15 Pole
ISO 12098 15 Core Cable

1-Yelow [ Left Hand Direction Indicator

2-Green |G Right Hand Direction Indicator

a-Bue [N Rear Fog Light

4-White \ | Common Return

5-Black I -t Hand Rear Position and Marker Lights

6-Brown |G Right Hand Rear Position and Marker Lights

7-Red I stop Lights

8-Pink \ | Reversing Light

9-Orange [ Power Supply Steady Constant

10-Grey [ worn Brake Lining Sensor

11-W.Black | sl Pressure Sensor for Spring Brake

12-W.Blue | — el ~xle Lifting Device

13-W.Red | eSS  Common Return for Data Lines

14-W.Green | s Canh

15-W.Brown | e Canl

m,‘\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS
Adapter Cables

Trailer Adapter Cable (ISO 12098) Polyurethan Material

Auger Nr. Description Dimension

54747 15 Pole Adapter Coil - Connection from Truck with | Alum. Pulg7-Poles(6x1mm/1x2 mm) 24V. Type N-ISO 1185/Type S-ISO 373
15 Pole Socket to Trailer with Socket Type S/ N Inner Diameter: 40 mm. - 3.00 mt. (15 Pole Adapter Coil N Type)

54748 15 Pole Adapter Coil - Connection from Truck with  Alum. Pulg7-Poles(6x1mm/1x2 mm) 24V. Type N-ISO 1185/Type S-ISO 373
15 Pole Socket to Trailer with Socket Type S/ N Inner Diameter: 40 mm. - 3.50 mt.

54749 15 Pole Adapter Coil - Connection from Truck with = Alum. Pulg7-Poles(6x1mm/1x2 mm) 24V. Type N-ISO 1185/Type S-ISO 373
15 Pole Socket to Trailer with Socket Type S/ N Inner Diameter: 40 mm. - 4.0 mt.

54750 15 Pole Adapter Coil - Connection from Truck with  Alum. Pulg7-Poles(6x1mm/1x2 mm) 24V. Type N-ISO 1185/Type S-ISO 373
15 Pole Socket to Trailer with Socket Type S/ N Inner Diameter: 40 mm. - 4.50 mt.

Also Deliverable in Green Colour Supplementary Cable

ISO 12098 Core Cable
®

@ Right Hand Direction Indicator
@ Rear Fog Light

// @ [ Common Return |

/ @ Left Hand Rear Position and Marker Lights

@ Right Hand Rear Position and Marker Lights

/@

O] Porcrsuony Steady Constant ]
(D] Pressure Sensorior SpringBrake |
(B A Lifing Device
()] Common Fetm for Daia Lines
{15) I

24V-N
O@@E@®E
QDE@®@®
S-Ave

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference only 12.37




UNIVERSAL PARTS

ABS - EBS Plugs & Sockets - Coils

ABS - EBS Coils - ADR Plugs (ISO 7638) - Polyurethan Material

Auger Nr.
54735
54736
54737
54738
54739
54740
54741

54742

Description
5 Pole ABS - Coil GGVS
(with 2 ABS Plugs 5 Poles)

5 Pole ABS - Coil GGVS
(with 2 ABS Plugs 5 Poles)

5 Pole ABS - Coil GGVS
(with 2 ABS Plugs 5 Poles)

5 Pole ABS - Coil GGVS
(with 2 ABS Plugs 5 Poles)

7 Pole EBS - Electrical - Coil GGVS
(with 2 EBS Plugs 7 Poles)

7 Pole EBS - Electrical - Coil GGVS
(with 2 EBS Plugs 7 Poles)

7 Pole EBS - Electrical - Coil GGVS
(with 2 EBS Plugs 7 Poles)

7 Pole EBS - Electrical - Coil GGVS
(with 2 EBS Plugs 7 Poles)

Plugs & Sockets ADR Certified

Auger Nr.
54717

54718
54719
54720

54725

54726
54727
54728

OEM Number
446 008 39 02

446 008 41 42 - 6500664 - 1505282

6500657 - 446 008 38 02
11058261 - 1506023

4460084042-6500662-1506027

Inner Diameter:

Inner Diameter:

Inner Diameter:

Inner Diameter:

Inner Diameter:

Inner Diameter:

Inner Diameter:

Inner Diameter:

Dimension

@44 mm. (3x1.5 mm2/2x2.5 mmz2) - 3.00 m.
@44 mm. (3x1.5 mm2/2x2.5 mm?2) - 3.50 m.
@44 mm. (3x1.5 mm2/ 2x2.5 mmz2) - 4.00 m.
@44 mm. (3x1.5 mm2/2x2.5 mmz2) - 4.50 m.
@44 mm. (5x1.5 mm2/2x2.5 mm?2) - 3.00 m.
@44 mm. (5x1.5 mm2/2x2.5 mm?2) - 3.50 m.
@44 mm. (5x1.5 mm2/ 2x2.5 mm?2) - 4.00 m.

@44 mm. (5x1.5 mm2/2x2.5 mm?2) - 4.50 m.

Description Type
ABS Plug 5 Pole
EBS Plug 7 Pole
ABS Plug 15 Pole

Adapter Plug

ABS Socket 5 Pole
EBS Socket 7 Pole
ABS Socket 15 Pole

Park Socket

m,‘\ufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




UNIVERSAL PARTS
Tank Caps/Air Tanks

Type-1 Type-2 < Type-3 Type-4.

Auger Nr. Description Type
54696 Aluminium Tank Cap with Key - @60 / Jost Type 1
54700 Aluminium Tank Cap with Key - 880 / Jost Type 1
54695 Aluminium Tank Cap without Key - @60 / Jost Type 2
54699 Aluminium Tank Cap without Key - / Jost Type 2
54694 Galvanized Tank Cap with Key - 260 / Jost Type 3
54698 Galvanized Tank Cap with Key - @80 / Jost Type 3
54701 Galvanized Tank Cap with Key - 940 / Jost Type 3
54693 Galvanized Tank Cap without Key - @60 / Jost Type 4
54697 Galvanized Tank Cap without Key - @80 / Jost Type 4

Air Tanks
Auger Nr. OEM Number Dia. Capacity Lenght Thread

21900 - 0206 10L 357 M22x1.5

21901 - 0206 15L 522 M22x1.5

21902 950 420 003 0 2206 20L 662 M22x1.5

21903 950 520 003 0 0246 20L 502 M22x1.5

21904 950 530 002 0 0246 30L 702 M22x1.5

21905 950 740 002 0 0276 40L 747 M22x1.5

21906 950 760 002 0 0276 60 L 1102 M22x1.5

21907 - 2310 60 L 873 M22x1.5

21908 - @310 80 L 1135 M22x1.5

21909 0396 60 L 567 M22x1.5

21910 950 080 002 0 @396 80 L 732 M22x1.5

21911 950 100 002 0 0396 100 L 902 M22x1.5

21912 - 2396 120 L 1048 M22x1.5

21951 950 730 005 0 0276 30L - -

Aufgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OE part numbers serve for comparison and reference onlym




UNIVERSAL PARTS

Trailer Parts

Auger Nr.

53045

53046

53047

53048

53049

OEM Nr. Description

— Spring Pin Set for Trailer

M24x1.5/0630x192

— Spring Pin Set for Trailer

M24x1.5/630x190.5

- Spring Pin Set for Trailer

M22x1.5/028x163.5

- Spring Pin Set for Trailer

M24x1.5/030x164

- Spring Pin Set for Trailer

M20x1.5/026x142

Model

Picture

mmfgefuhrte Original-Ersatzteilenummern dienen nur zu Vergleichszwecken / OF part numbers serve for comparison and reference only




